Run 19488, integration on 12 samples

HG pedestal [ADC]

1.5
§)
‘ ®
1.0- ~3F . 4
o@’ 2 .... 0
% (% § b o..
P o 8. % 9,%¢ L >
0.5] g, 0 Wy
8 g 3 ‘.
® ® % ® ® ® _0
— ® .. .. . .. e L]
- [ ® e
= 0.0- “ -3 o
..‘ Ao s foe p -2
> .t.i $$ » o L e
® % ® % .} ’ .’ _4
—0.51 o:::.t. ] :. P '?$o o
* o . ® ... v _6
py S
—1.0 (32 o
e ‘ _8
—1.51 | EngilneeringCameraFrlame -10
-1 0 1
X (m)
s HG pedestal std [ADC]
1.0 ‘“‘.::{ >
. 7] ®
& g inr
ool [ i
Hr o o AaY AR | 530
0.54 » S ® 2 &
" ‘ [ ] u. * @ ‘ o O e @
’ ® .g o0 .’
Veat w9 %
— 3 AR A wis -28
= ‘....% ®0g $e @ .‘0
= 0.0- . fe ‘2.0 &%
' L B ey Yo TR °  §
> xi:...}.i....
& e o ¥ 0 2% L $26
PR 0T A0t Y
—0.57 ¢ %.° y S .
g Pe "o % L ek alIR LI o'
% ® e o..'. ..o‘n - D4
..:o’% g‘.o 2.’
—1.0 1 o. ?‘ »y
®
22
~1.5- | | EngilneeringCIameraFrzlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
BN HG Median -1.48, std 2.79
80 1
00 -
n
[
X
Q
40 -
20
O_
—10 -5 0
HG pedestal
B LG Median -1.84, std 2.35
100 A
80 1
0
¢ 60
Q
40 -
20 1
O_
-10.0 -7.5 -5.0 =25 0.0 25 5.0

LG pedestal

1.5

1.0

0.5 1

y (m)

—0.5"

—1.01

—1.51

1.5

1.0

0.51

y (m)

—0.5 1

—1.0 1

—1.5-

120 -

100 1

80

pixels

40

20 1

120 -

100 -

80

pixels

40

20 -

LG pedestal [ADC]

0.0

L]
% "o
' Y :. ' .‘
@
e” e ...@~ ® 09, % . %
:.o. . P 3 »
@

*e e} b, °® .
.‘} ..$$.‘ ..’... ...$
Pe ® ® .‘ o ‘, o .
s pvh Ay TN Loy S
}.. ° & ® K .. 4 ....

@ ®
.. .. : . O$.:. ® 95
) W |
[ be " L 224 %
e o % ¢
®  Sead

| EngilneeringCameraFrlame

-1 0 1

X (m)

LG pedestal std [ADC]

0.0

é}:’%ﬁ
7

[ oa Rty ee o Ny L
:iozi ::o}.:.{f” R }:
%o ‘0. 00‘...0 :.‘o‘ o0
w &%‘ .... \
T Rk e
L R AR
* e . s o eed
° \‘}o...% Soe ®
[ e Cee
R PR
A
[ Rog }..
| | EngilneeringCIameraFrzlame
-1.0 -0.5 0.0 0.5 1.0
X (m)

26

24

22

20

18

16

60 -

BN Median 25.44, std 1.81

60 -

22 24 26 28 30 32 34
HG pedestal std
Bl Median 19.48, std 1.69
16 18 20 22 24 26 28

LG pedestal std



600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 19488, pixel 0

—— event 1001, HG: RO
baseline correction

+ dt corr + corrected spikes

---- offset

—— event 1001, LG: RO
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Run 19488, pixel 0

—— event 1005, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset
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—— event 1006, LG: RO

baseline correction
+ dt corr + corrected spikes
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